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MUC(2) — Com (CC - 9)

2020(New)

Time : 3 hours
Full Marks : 70
Pass Marks : 31.5

Candidates are required to give their answers in
their own words as far as practicable.

Tl qemaya s =) A & 3 S
The figures in the margin indicate full marks.
377 % 3% qUfF & Faw &

Answe( from all the Groups as directed.

HE¥TFar a3 @vel @ 3w 3

Group - A
[ug - K
(Objective Type Questions)

- (FEgiE wva)

1. Selectthe correct option from the following :

2x10=20
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Frefufigs § @ frses gf

(a) Management Accounting helps the

management :
T G Y ) 98 T @
() Indirection |
e
(i) Incontrol
o= |
(iii) Inplanning
e
(iv) ﬁof these
T & it

(b) The term ManagementAccounting was first

used in which year ?

TEE g dEieA g vduyd fra ad w3
3T a1 ?
() 1960# (i) 1955%
(iii) 1947 & «(iv)}-1950 1
(c) The conceptof ManagementAccountingwas -
given by :
BE - 26/3 (2) Contd.
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el ohgie Y STEauTon e T o (e) Break-even pointis thatwhere:
%mes H. Bliss wmfaea forg @8 2 el :
e wHo T g (i) There is minimum profit
(i) J.Batty I AN R
o I T (i) Thereis i’ninimum loss
(i) R.N.Anthony =g g1ty @
3o THo T TR Wno profit, no loss
M_Amerigw?_giation Tav g, g
srifia Jai /9 T (iv) None ofthese
(d) The difference between actual cost and T A F1E

standard cost is known as : () Withthe increase in Fixed Cost, BEP will :

;mﬁaamqamwmﬁwmm o # 75 g
(i) Profit %Ease
- T
a-[u ' .e
(i) Differential cost (i) Decrease
' favermes and g
“(iii) Margin of safety | (iii) Nochange
TN 3 1§ afada T
%ﬂe (iv) None of these
oottt - it & i A
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\_/(gy/ﬁv ratio is equal to :
AT HIAT AT SR e @
k/m/§ales— Variabiecost
| / | Sales
feopa - aftadefier @vm
femrer

\w’/Sales
_ Pro_ﬁt
fomra

L |

. Profit
Sales

x 100

(iii)

Y
——x 100
fara

(iv) None of thgse

T q FIE e
Me difference between standard cost of
materials and actual cost of materials is

known as :
Tl % YHIY ST G gl & arefes S
& ofie T I ST ST R ‘
(i) Material price variance
it g feerom
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\M/zﬁ cost variance
gt wvra fereroma

(ii) Material use variance
et wa o
(iv) Noneofthese

T A B T

(i) If semi-variable cost of 5,000 imits is
¥ 20,000 (25% fixed) then the semi-variable
cost of 10,000 units will be -

IR 7 -fadsfie @i 5,000 3%73at @
% 20,000 (25% f&Rr) @ 10,000 sTea =1
3¢ -ufadefie @rma 10,000 =G FrEwn :

\\_yq}%),ooo (i) 40,000
Was,ooo (iv) ¥25,000

() BEPinrupeesisequalto:

=7 3wl forg aTe A2 «

Fixad cost
P/V Ratio
e e

STH - 4T3 AU
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~ P/V Ratio
(ii) Fixed cost

TN - TF1 U
fee TR

Fixed cost

WContribution

Feaama
<R
(iv) None of these
T @ FE T
Group-B
@ug —-o
(Short-answer Type Questions)
" (F7g-3% i 79)
Answer any four of the following questions :
| | 5x4 = 20
78 gl an weAt h Im d

Describe the nature of Management Accounting.

YaehTa ST@TehA ohl Wehfd o1 auiF &)

}A\!Hat do you mean by break-even chart ?

=R IR 8 MY T THA & 7
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4. What is variance analysis ?

ﬁw’mﬁmﬁmw%?

5. With the help of the following data related to 60%

capacity of production, prepare a flexible budget
for 80% capacﬂy

I % 60% g § graf-ta ffofaa sfest @

80% &Wd1 & T Arer Toie 4R it ;

Units produced (EHTféas?ﬂsuT) - 600
Materials ' % 100 per unit
amft

Labour 340 per uhit
TR

Expenses _ < 10 per unit
g |

Factory Expenses 340,000 (40% fixed)
Eanteici o '
Admn. Expenses N ¥30,000 (60% fixed)
TIEAS =1 -

6. In a period, sales amount to Z 2,00,000 and net

profit ¥ 20,000. Fixed overheads are ¥ 30,000,
Find out :

BE -26/3 (8, }ontd.
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T 37aftr # fasea T 2,00,000 3 37¢ @ 2 20,000
21 fRR =/ 7 30,000 2| 3 Hifdr
(@) P/ Ratio.
AT-HTAT 714 |
(b) Profit when sales will be T 3,00,000.
@™ w19 faska .3,00,000 &t
(c) Contribution when sales will be T 1,50,000.
e 5/ g € 1,50,000 21
(d) .Sales to earn a profit of ¥ 30,000.
T 30,000 T FAR % fere farsrar |
Group - C
@ ig -«
(Long-answer Type Questions)
(?frrf-a?rﬂ# T%R)
- Answer any three of the following questions :
| 10x3 = 30
frefirfaa wet 3 @ ol dtm & s 2

What do you mean by Management Accounting ?

Explain its scope and objectives.
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T St & e e d 7 3o e
374! & TR

8. Whatis flexible budget ? Discuss its importance.

TR 91 /T ¢ 7 THb Hged ol el |

9. From the following information, calculate Material
Cost Variance : https://www.Inmuonline.com

= g @ st e feewor i e fif

Standard Actual
yaTUe Fafas
Material Qty. Price Qty. Price
it " . AT HEAT @0
A 10 kg <4 perkg 12kg  T60
B 15kg ¥5perkg 18kg ¥ 72
25 kg 30kg

10. The following data are given ;

frafafaa siee fad gu g -
Fixed expenses < 10,000
fer =

BE - 26/3 (10) Contd.
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BEP T 25,000
TfSe firg
Calculate the following :
Frefaft momr =t
(a) P/VRatio.
TT-HTET 319
(b) Profit when sales was ¥ 50,000.
o™, o feht 2 50,000 B
(c) BEP if SP will reduce by 20%. |
wafer=ae farg o faskr e 20% & %0 @ v

(d) Sales in rupees to earn a profit of ¥ 10,000
after deducting SP by 20%.

¥ & 354 T 10,000 @ FWR % forg fersra
T o 20% i =l w1 F 4|
11. The expenses of the production of 5,000 units in
a factory are given as follows :
@W@ﬁﬂsooomﬁ%m%mm
FamrfAmE:
~ Materials T 40 per unit
amft
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Labour Z 20 per unit
| 39

Variable overheads . Z 10 per unit

yRasEie 39fe

Fixed overheads (250,000) ¥ 10 per unit

f@R e (% 50,000)

Administrative Exp. (5% variable) ¥ 10 per unit

yaTrafe = (5% YREd-Eia) |

Selling Exp. (40% fixed) 2‘ 6 per unit

faera =59 (40% )

Distribution Exp. (25% fixed) Z 5 per unit

fyeren = (25% f&r) - ' L

Total cost of sales per Qnit- X101

You are required to prepare a flexible budget for

the production of 8,000 units. |

maooomﬁ%mm%%q?ﬁmm
mm%l

. .
°"
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